|
CxtE

-

0u Ly : A ., B

=" 4 a————1
(-9 )1 -3 =32 l-x (1-x)

L‘ =
-

H(:l—ga)l £ b (132)(Z) ¥ <(1-3)

T~ e saian
e —— ———

[ l”' u\
z _1(_ B
cs =L
%'42‘ L’ - g{‘?—\\b
° \3)
\ Lz L A
\ q
\ A=z9
o Lz a(i-x) e B(-m)n) o1 l=3%)

R

e (’, D #) € B[ T +5505) ¢ <(1-»)

opusly cocfik

xR+ S0 )
2. -2 -Bp 3¢ - O /@‘)
xe . A *B t¢ 5t =6
o A= -0

w(2) -L(-3B) -ul -3& S0

66 Ll -3~ zO
3¢ 28 o
<z Z‘fl r-w
)

-

W3 -3 ¢ + 18 o4 B
P




Qz!ul»r*ko - 3 )

(-7e =2 -zl

e N NP N

() 4 &2 : B . Besc

(20 1) (M) (22-1) (x4

Hielx

e

A (7‘-2-4’ l) *_{;ﬂx.,% < )(25e - J

2 Az1) 4+ 28° B ¢lgx -<

x = A +16 = 6 -
76' B3l = 7 —(o\}
% A-c - A 7 ~ N
61“"”(-[) 93 "Zv'b .__&) -

;/ “@ T(: 2."'6

P
<o ug ()

2
W@ 16 ~(248) -qg
ey
X1
~ug -z .0 = )’/
— S = lo
g - 2 =
. P % " %W‘&” —_E{_ + —g_-
W W) H:=H4 : o oy
kO sz @& =) % _ 7
2re—1 wtel




n

(i) 5- > 5+ <

R
G- L) &1l ) ('7:&-5)

5 0x = AGET) ¥ Ble-leit) ¥ <b-"

y / . e
F A(XRel) + (XK tR o2 )4 < Ix¥i)

}

Cﬂdfw*CuG—‘

XK Bt s0 (1)

2 At e - L -
2 18 Ib e 5 5 — (3)
P %@ 2= - __‘ZL

Asdc-r ()

70) Z(}g'l) <) M =2 - N

be -H +7¢ 48 5

. zgun/ 5

- +
) (rx—l)z (x-1) (xel)

e




(1v) Tx ¢] s A 4 bBrac

47—(-17-)( fx.t'l—‘—l) x-1T xtely
Ix ¢) f ﬁ(ZLiu) v (Br4<)(x-1)
s P LR 1 Bxt 1B t<i -1le
Corpese Coolr
. 0 =
4 40D = O _,Q)
K -1h te = 2 ___(7:)
v ap -1¢ - | /D
L.
M- Rz -b S
U —~\

K-l <=z 72 +¢18 -5/

—Llb w4l o

- -yé -5
bz =3
P
W@ v A +%
¥ A
WG C= L+als) s 757 = 43
o (5' o )
= /\,__/Q —é—
- Cqunn S ¢ CHF ) ’
4 7(e-1) e ol

+ _S-lx

-4
Fx-1) 5 (x 4)




-

)

_ '2%"4'7(—*'1-) Z _&934-( ¥
Gxiolarv) 20

xXel

~—i

t Bl2"-3)

T vxati = (Bye<)(xer)

<

Bal ¢+ 1 wen+le + 2P z -3A

["7 ' Chﬂb!,.
o fe1h o1 -
—,

_7(-'-: 76 +< =

& T 3B 5 4
B ~ B2 -1A ~&)
n@ Z2(L-1h)tec sl
L-50+ <5
<7 L4h -3 )
Wy Z(ahy) A 39
7h -6 "'}_A P ad
6'" =z (0
AzZ
W 5 _7
0\@ (- 5
Coywy 5-2¢ ¢ 2
: Z*-3% x el
B \/\___/-\v \../M




)

2 -1

> i

<

—

. +

2x+(2% ¢1)

0
ol 2

2l

oY

-
-

—

ﬁ(Z}u«l/ + _61_@'141) F <

ive

QA% +B t Wox "¢ Bx + <

(.)A?mc_hy”

1

7<:  Ihe < 2 |

£ (328‘—1_} £ (Bxec)re

W

W

3A7¢"-ﬁ +Dh ¢z




2, <3 o
2 —-R2D
ﬂi -y , Bz |0 =0
2.4 waws 10X -2
i : Y-l 2

(viw)  Dotex+L -z Brec A

Qx™ ) xe 1) 2 b1 xeE]

Dtep vl = (Bue)eal)+ A(Z,EE1)

2 bt eluicy pe elAxeN
Compue <o
K b v pz D

- 7’!‘» B'&C z | ’—Q{)

2 < ¥B =z 4 _@

Vs

SONUERPY)) =7y

W) 72 -7A vzl

<= 2A-1 =D,

m@ 720 -] tB 1

o S
|

-
%4




(A4

|
(1) Hx'-3 . A . B8 . < "
2 (2e-1) KX (ax-l)  Que-i)

Lix =% HCZ]C«[);L ¢ Bx(Qx-t) + <9e

Wt

2 AL -treey) +1Bx -hBrc e <

K LA el 54 =, ZA:B L2 _[1)

—

_"Z,': -L4A -y < - O ——-@

.»70" A . -

L =C b
bz y

P
WD 1L -y ¥ es

<z <-4 -

. QL}W'VV 78 - b

- 2
2ol (Zx-l)” %
W"—\_‘-—\_'____\




.,

AN
@) g -+ ZE -l-.:l' B A n gy—é_f'_

Y 4 ) ey ey

X ¥ Qs F 2 Nlxteu] ¢ (Bpecl(Z)evy)

s Ax t0PF + 78" €38y Jleie +i<

R 1 A = O,

NN

ZHT I v e oL )

2 OR ¥le 573 B

(D Bs [R5 ()

o~

fe(@d) 2< s 138

P

<. 2-6 . ’f@

1

W3 a(t-18) 3138 -3

=

XU 5([-78) +3(Z -18) 5 19

5 -lds & -9 712

-I55 o

Rz

——




r.t

(D 2 - Lhe + 21> = R & {;}44:(

— e ) e 3) *x=-7 Geted)

Kol 75 = Alae]) #(Bn<)(z-7)

s A=A & Br” - 58 € —5<

D

o 1

\.Gr\pmﬁ C ety

AR N/ L/

, )
X =96btc -4 —J

22 3 =5<= 25 %)

=

L DI 2

.~ .
My =< S5h-H =4D,

W) (1B -5(58-4) =13

3-30 5B +lp =73

258 2o
Kzo
z,,‘(é) Fq:j
w®d <=z -5




